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2.  sin0° X cos 60° 4 cos 0° X tan 45° — sin 45° X tan 60° =7
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BC = V202 - 122 = 16 cm
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Zte sin cos tan

34° 0.5592 0.8290 0.6745
35° 0.5736 0.8192 0,7002
36° 0.5878 0.8090 0.7265

1) x=34°, y=0.8290 (2) 36.225

1) x=36° y=0.8142 (2) 34.235

1)
1)
(1) x=36° y = 0.872 (2) 36.215
(1) x=35° y=0.8192 (2) 40.45
1)

1) x=36°, y=0.802 (2) 36.95

z
2 36° = — = 0.8090
(2) cos 50
. z=>50x0.8090 = 40.45
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b x =2V2, y =2V2 o[t}




7. sinA=0.6 % ™, cosA+tan A °] gFS FoHH? (H, 0°< A <90°
)
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cos A 2 tan A 7 =3
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CE=2v3
EG =22
CG=20]22

sin x + cos x =
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o tiste] /DAB = x, £/ADB =y, /DEC = z
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@ siny =sinz @ cosy = cosz
(@)tanxztanz @ cosz=BD

® tanx = CE
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siny =sinz = AB, cosy = cosz = BD
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aB sin x cos T tan =

43° 0.6820 0.7314 0.9325

44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1,0000
46° 0.7193 0.6947 1,0355
47° 0.7314 0.6821 1,0724

@e6s2 @697 @701 @ 7193 G 7314

sin 43° = 110 o]BE x = 10 X sin43° = 10 x 0.682 = 6.82
6.82




11. o2 284 ¥ 0 9] §Hx] & 2] Zo|7} 5,
BC =64 4, cos A 9 g2 F+31H?
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C=V102-62=28




21K 2x —y+3 =0 9 1 EQ} x 0] o] R o7}
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13. cos(2x+40°) = = & ], tan 6x & 27 (T, 0° < x < 90°)
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cos 60° = 3 OB 2x +40° = 60° , x = 10° ©|T}.
s tan60° = V3




14. & 239 AABC A /A = 90°, AB = 6cm , AC = 8cm ,
AH1BC ¥ 1, cosy 2] gr2?

AABH ¢OACBA, AAHC ¢OABAC

T3 BC = V62 + 82 = 10cm ©]B2 cosy = - o[t}
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@ sin45° = cos45° @cos48°>cos38°
@ tan35° < tan40® @ sin37° < cos37°
@sin56° < cosH6 °

B

@ cos48° < cos38°
@ tan35° < tan40°

@ sin37° < cos37°
® sin 56 ° > cos 56 °




